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Math 152 Week in Review: Section 10.3, 10.4

X 9
1. Give two polar representations for the point [—ﬁ\fﬁ. 5). One with r» > 0

and one with » < (.
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2. Write a Cartesian equation for the polar curve r = —8 sind e x f?L
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3. Write a Cartesian equation for the polar curve r=sin(26) = 1.
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4. Graph r = 4dcos(38)
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5. Graph r = 3sin(26)
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6. Graphr = 1 4 3sind
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7. Find the area shaded in the region below for the curve r = /2,
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8. Find the area of inside one petal of the polar curve r = 4sin(34).

N

WA
o
lﬂ\:\

s\ T

<

i ying
O < 3
T
/2 2
> (l( s,»\(.?e% Ao
0
72 A
- . Z -
- JZ Je S (363 A— 5 8 s-hZ(ja\&@
) p)
j r’/z
ol = 3 (140520 = & 5( | - bé(ae\w e

1, L/, 26 0o
g.m)-z(l&% 3 -

= Y (9 - ;LSM((OQ)\ J K

Dec 4-4:54 PM



152-wir-11.notebook December 04, 2018

0. Find the area inside the polar curve r = 2 + cos(48).
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cardioid r = 4 — 4sinf.
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10. Set up the integral for the area inside the circle r = 6 and outside the
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11. Find the length of the polar curve. r =€, 0 < 8 < 27 /S
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12. Set up an integral for the arc length of one petal r = 4sin(36).
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